


[ purchased 120 exercise books at the rate of Rs. 3 each and sold 1

them at the rate of Rs.4 each, 2— of them at the rate of Rs.5 each

and the rest at the cost price. My profit percent was
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1.44%

2. 44%%

3. 44%%

4. 45%
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A loss of 20% is incurred when 6 articles are sold for a rupee. To

gain 20% how many articles should be sold for a rupee
SIS 1 H 6 IXGY ST S 8 dl 20% BT T EI%?IT%I 20% DT
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(1)1
(2) 2
(3) 3
(4) 4




A man sold two article in Rs 1800 each ,first article sold at 30%
3 profit and second sold at 20% loss find the result of this transaction
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A boy walking at a speed of 10 km/hr reaches his school 15
minutes late. Next time he increases his speed by 2 km/hr, but

still he is late by 5 minutes. Find the distance of his school from
his house.

10 fordlt / geT Dt T & Fe a1a1 T TSt 15 e gt 3
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(1) 10 |
VARGE.
(3) 20 1
(4) 25 1




Two men A and B walk from P to QQ, a distance of 21 km, at 3 and

4 kms an

hour respectively. B reaches Q, returns immediately and meets A
at
R Find the distance from P to R. .
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The income of A and B are in the ratio 5:3 ,the expenses of A:B and C
are in the ratio 8:5:2,If C spends Rs 2000 and B saves Rs 700 then A

SAVES
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(@) 1500
(b) 10001
(C) 500 |
d) 250 "




7 3,000 is divided between A, B and C Also that A receives % as much as B

. 2 ; '
and C together and B receives 388 much as A and C together receive. Then

the share of C is:
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The proportion of acid and water in three samplesis 2: 1, 3 :2
and 5: 3, A mixture containing equal quantities of all three samples is made.

he ratio of acid and water in the mixture is:

1
gqaﬁﬁmaﬁ?qﬁcﬂ&ﬂm 2:1,3:2 3R 5:3 g1 U [Hyor
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(@) 12:133
(b) 227:133
(c) 38

(d)  5:11
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A father stated, “thrice my father’s age is 7 times my age. And my son’s age
is cube root of my age. Also, nine years ago, my age was one-third of my

father’s age then.” Find the ratio between the age of the father’s father, the
father’s son and the father himself is
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8. In a partnership X invests x L thiof the capital for = z th of the time, Y invests =

i
1

) rd capital for £ rd time and Z invests the remaining capital for the whole time.

'
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[f at the end of the year the profit earned is 23,000 then what will be Y share?
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(a) 5500
(b) 5000
(c) 6000
(d) 4000
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1 1 A cube of edges 20 cm is completely immersed in a rectangular

vessel containing water. If the dimensions of the base of the vessel §
f 1 4re 20 em by 40 cm, the rise in water level will be

20 HT {h-TRT a1l Teh U4 U § WY Uh SAATPR a4 H - |
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(A) 2 cm

(B) 6 cm | (]
(C) 8 ecm I
(D) 10 cm ’ \
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A man on the top of a vertical observation tower observes a car moving at a
uniform speed com ing directly towards it. If it takes 12 minutes for the anglél

of depression to change from 30° to 45°, how soon after this will the car reach
the observation tower7
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(B) 15 min. 49 sec.
(C) 16 min. 23 sec.
(D) 18 min. 5 sec.
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‘ | The simple interest accrued on a certain principal in 5 years at the rate of
2 p.c.p.a is Rs.1536. What amount of simple interest would one get if one
invests Rs.1000 more than the previous principal for 2 years and at the |

same rate p.c.p.a’

U AT G R 5 a9 § 12 Ufa=d Ufd au &1 &z I HfSid TR
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(A) Rs. 614.40 *
(B) Rs. 845.40 ’ |
(C) Rs. 854.40 )
(D) Rs. 1536
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| If a number N is divided by 132 then we get 10 as remainder. If ‘ '

1 N3 is divided by 12, what will be the remainder? Il
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Find the unit digit of the number 532375+ 819%32 +87777 +
1 985325 -11218,




A right angled triangle with sides of 6 cm, 8 cm and 10cm. Find the ratio of
in-radius and circum radius respectively.
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(@a)4:5
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‘. | By selling 33m. Cloth, a shopkeeper loses money equivalent to selling price of 11
1 m. Find his loss percentage?
33 UY. PUST ITBY, TP gPGR 11 Hiex o1 faspt gou & RaR U
( 6 THAT ISR | SUBT THHM U Jd PR

| (a) 25%

(b) 11%

(c) 33%
(d) 20%
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A dishonest fruit seller sells fruits at 5% loss. If he uses 850 gm weight in place of 1
kg weight, then what is his profit percent?

wd fashdr 5% B IR v dadr g1 afe ag 1 fal ao & WH
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13
(a) 11 = %

(b) 11 =%
(c) 11.5%
(d) 12.%
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A cricketer gives 18.4 runs per wicket. He gives 60 runs and takes 5 wicket in a
match after which his average becomes 18 per wicket. How many wickets had been

taken till the last match? ,

fpper ufd fadbe 18.4 T AT B AT H 60 T T & 3R 5 fAde
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(a) 75
(b) 80
(c) 85
(d) NOT
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il 1 If/‘T% a=5Db=-6,c=10 then the value of/qﬁmaﬁ'
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At the centers of two circles, two arcs of equal length subtend
angles of 60° and 75° respectively, the ratio of the radii of the
O two circles is
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@)5:2 M
(b)5:4
(c)3:4
d)2:1
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